10 REM

FEI KT AN XHR R

AR I WKW

20 REM
30 REM
5
40 REM
50 REM
chul te
60 REM
70 REM
80 REM

70 REM

- W

*

* Y1 MOUSE
*

*
*

® (C) B8/71984 hy dJ.5
*

*

*
*
M.Fies *
*

*
I I AE I TN IR

INKZ
{NY
LMHDT
{AHZ
{NG>
{0H3
OC3

INL3

R T T ey
100 -

110 DEF FNxI(z)=INT((z~11)/54+1)
120 DEF FHNyi(2)=INT((z—4)/5+1)
130 DEF FNx (z)=10+z%10+1

130 DEF FiNy(z)=zx5-1

150 MODE 1:CALL &R{E02

150 fZ=0:1lev=0rant=0:1iv=4:s5c=0
:DIM 145,5)

170 LOCATE 15,12:PRINT “Ritte w
arten"

180 GOSUE 4020:GDSUR 4320

190 GOSUR 800

200 gOTO 4110

210 INK 0,03 INK §,26:INK 2,62 1N
kK 3,2

220 GOSUR 169C:(0SUR 1190

{oc?
{D3y
iLal
{FO>
{LD>
{LH3
{he?

CEHY

{EBEY
{FF3
{END
{CI>

{JIB}
NG

230
24Q
250
260
SUR
270
280
290
300
310
320
T30
40
350
T60
Y+t
370

CLS: INK 2,13
GOSUR 1410:60SUR 2420

Yev=lev+l:IF lev<=S THEN GO
110 ELSE GOTQ 3500
GOSUB 3890

FOR i=1 1O 4

FOR j=t TO 4
1¢j,i)=0

NEXT i

NEXT i

FOR J=1 TO 18
%=INT (RND%4} +1 : v=INT (RND»*4

:IF 1 4x,y)<>0 THEN 340

LT3
B3>
{DF2

{BFE:
(PN3
{03
KN
{ace
{DN3
(GM3
tpa?
CDH3
L3

{MKF
{Eaz



FIB0 14 ,y)=INT(RND*9) +1

390 x1=FNx {x)i1y1=FNy (y)}

400 CALL %£7000,x1,vyl,x1+9,y1+4
s 24600 (X ,y¥) #400,1

410 NEXT i

420 .
T0 GOSUR 2S60

440 FOR i=t TO 4

450 FOR j=i TO 4

4460 IF 1¢j,i)=0 THEN 1lxn=j:ly=
i

470 NEXT j

480 NEXT i

490 -

500 SOUND 7,213,6,7

510 FEN 1

520

570 t=TIME

540 a=J0Y(0): 1IF a=0 THEN &%0
550 IF a=1 AND I{lx,ly+1)<>0 T
HEN ax=1x:ay=ly+i:rx=0:ry=—5:60
T0O &10

560 IF a=2 AND l{lx,ly—1}<>0 T

HEN ax=1x:ay=ly—-1:rx=0:ry=59:60T
0 610
570 IF a=4 AND 1 (Ix+1,1y)<>0 T
HEN ax=Ix+1:ay=lyirx=—-Siry=0:60
10 610
5B0 IF a=8 AND 1{lx~i,1y)<20 T
HEN ax=1lx—i:ay=ly:rx=8:ry=0:G0T
0 419

590 GOTA. 470
600

6£10 m=1ltax,ayl):1{axn,ay)=0

620 at=FNx (ax}):a2=FNy(ay):11=FN
X CEx):12=FNy {1y}

630 CALL &700p.al,a2.a1+9,a2+4,
30000, 1

640 CALL %7000,11,12,114+9,12+4,
244600+ Lm*400) , 1
650 1(ix,1y)=m:lx=axs:ly=ay

&40 2x=FNx 1 (FEEK (31000)) : zy=FNy
1 (FPEEK (51001)) =

&70 : IF zx=ax AND zy=ay THEN ¥D
KE 31000,FEEK(31Q00) +rx:FOKE =1
00l ,FEEK {31001} +ry: FOKE F1003,F
EEK (31000) :POKE 31004 ,FEEK (T100
1) : LOCATE FEEK (31000} ,PEEK (3100
1) :FRINT CHR¥(FEEK (31005) )3

6gn

630 EALL &7100,8{%

700 :IF $%=255 THEN {%Z=0:sc=sc+
pusanf=anf+1:L0CATE 2, 3:PRINT U
SING "HH#E#"ssC

710 = IF anf=8 THEN 2&0

720 ze=lim-INT(TIME-t)/3I00:L0CA
TE 35,25:FRINT USING "###":z2es3
730 :IF ze<=0 THEN BGOSUR Z770:06
aTtg 270

740 -

750 zx=FNul (FEEK (31000) } : zy=FNy
1{FEEK(310Q01))

760 zIF zxdl OR zx>4 OR zy<1l OR
. zy>4 THEN 540

77G $IF T (UINT (2%} JENT(2v) )=0 TH
EN GOSUR 3770:G07T0 270

780 GOTQ S40

7o -

800 REM Zeichendefinition

B10 SYMBOL AFTER O:MEMORY %&1A7
820 SYMBOL 33,127 ,127,127,127,2
55,255.255,255

30 SYMROL 37,205,255,2895,25041
2T AET 127027
840 SYMBDL 35,253,255,295,255,2
54,254,254 ,254

850 SYMEIDL 34,254,254 ,254,254,2
65, 255,255,255 )

846G SYMBOL 37,15,255,255,255.25
5,255,255.255
87G SYMEOL 38,240,255,255,255,2
55, 255,255,255

880 SYMBOL. 40 ,255,255,255,255,2
55,255,255,15

890 SYMBOL 41,255,255 ,255,255,2
95,255,255, 240

{IK
FC3

{Ccox
{CD>
{DI3
Moz
{Ics
Moz
{tIey
{61
{DE>
{DD>
LIt
{HP}
{oL}
ics
{663

(49 &

(KK

{Daz

{JAay
£OD}
{DM>
€332
{NE?
{HD}

{DG}
INLY

{GOX

{GJY
{DE}
{MAz

{AJ3
{Ma3
{MH>

{CF}
{DL>

{G1X
{rPG2
{FLZ
{BK}
{DE}
INXZ
{HNZ
{BL}
THE?
{EH>
(ED2
{CD}

{CB>

{DB}

9H0 SYMBOL 43%,1,2,4,.8,14,32,64,
128
910 SYMEOL &t,.128,64,32,16,.8,4,
2.1
92 GYMEOL 131,0,0,32,64,132,18
2,126,127

20 GYMROL 97.,255,255,255,255
940 SYMBOL 98,0,0,0,0,255,255,2
55,255
950 SYMBUL 99,240,240,240,240,2
40,240 ,240,240

960 SYMROL 100,15,15,15,15,15,1
5,15,15

970 SVYMROL 101,0,0,0,0.240,240,

240,240

980 SYMEROL 1952,0,0,0,0,15,15,15
W15

790 SYMEOL 10X,280,240,240,240
1000 SYMEOL. 104,15,15,15,15
1010 SYMEOL 105,240,240Q0,240,240
+ 255, 255,255,255

1020 SYMROL 106,15,15,15,15,255
+ 255 4255 255

1030 SYMBOL 107,255,255,255,255
$19,15,15,153 «

1040 SYMROL 108,255,25%,255,255
240,240 ,240,280

1050 SYMBOL 117,127,127,127,127
«127 127,127 ,127

1060 SYMBOL 118,254,254 ,254,254
W 254,254 254,254

1070 SYMROL 119,0,255,255,255,2
55,255,255,255

1080 SYMROL 120,255,255,255,255
255,255,255

1090 SYMEOL 121,0,31,63,127,127
w127 ,127,127

1100 SYMBOL 122,0,248,2%2,254,2
54,254,254, 254

1110 SYMBOL 123,127,127,127,127
127,633,321

1120 SYMBOL 125,254,254,254,254
254,252,248

1130 SYMBOL 126,255,255,255,255
«255,255,255,255

1140 SYMBOL 133,0,0,4,2,33,109,
126,254

1150 SYMBEOL 130,1,7,15,%,7,37,.1

9,12
(1360 SYMBOL 132,48,200,228,224,

192,240,224,128

1170 QYMEROL 151,24,24,2%5,255,2
4,24,.24,24

1180 RETURN

1170 REM Rloecke definieren
1200 CLS: INK 2,0:FPEN 2

1210 INE 0,0:FAFER O: RORDER O
1220 RESTORE 1320

1220 ¢
1240
1250
1260
T bisg
1270
1280
1290
t 00
1210 RETURN

1320 DATA "ywwwz" W 1mvvgoe o

D LI NN

1330 DATA "yi Sa",a™ Vet oyv
Vil Ty gl ¥V
1340 PATA “yZ Rz,
A2 B Al 4 .
1350 DATA “yZ %z, "u™ ", "u™

MUY D3 Y

FOR i=) 10 9
FOR ji=1 70 G
READ bl#:LUOCATE 1,3i:FRIN

NEXT J:ad=244600+i %400

CALL %7000,1,1,10,5,ad,0
NEXT i

LRV "~
- L]

1260 DATO "yrwwz "  "uNVVET Ty
nongn e ngg g3
1270 DATA “ywwwa " Hivvnvyn o n

Vh e gn weg e
138(, nATA Ily-/' ,_'Z " = Ll ! " ’\4:’7" ¥ o
wone g wEg y3w
TFO DATA "MyL Bzt 0t e 0 =
""l"‘\o '\;*",ll{‘ }n
1400 DATA "y% 22" "1~ ~ge,0

W_ERE R W Y

{Hax
{Db>

Lox
{OF>

$IF3
{ND3
HA3
acs
{ME3
<003
CIE2
€HI
£6M3
18 (v
{6F3
ND3
MM
{D12
¢ID2
<EO3
IH?
TN
(GE3
AN

{CAY

{FLX
{HE>
{13
{AF3
LFF3
{FM3

3

1410 REM Rildschirmaufbau

1420 FEN X

1470 spt=GFACE+(20) )

1440 LOCATE 1.1:FRINT " FLUNKTE
d « fbbbbbbke d c MAEUSE

1450 LOCATE 12,2:FRINT "d ¢ d

& &

14460 LOCATE &,Z:FPRINT “ d

c dlaak c dc ";:PEN 1:FR

INT STRING#(4,138)3:FEN 3

1470 LOCATE 4,5:FRINT "fbbbbbb"

sp¥"bbbbbbe"”

1480 LOCATE 8,6:FRINT “d"spsSFPA

CE$(12) "

1490 L BCATE 4,7:FRINT "d
spt'aaaak "

1500 LOCATE 4,B:PRINT "d & ®

laaaa"

sps" d c"
1510 LOCATE A4,.9:FRINT "d ¢ L
sp¥" dc”
S20 LOCATE 4,10:FRINT"d cfbbb”
sp¥"bbbed "
1530 LOCATE 4,.11:FRINT"d cd o
spF” cd c”
1349 LOCATE 4,12:FRINT"d cd 1a"
sp¥Fak cd c"
1550 LOCATE 4,13:FRINT'd cd &=
sp$s” d ed c*
1540 LOCATE 4,14:FPRINT"'d cd ¢ "
sp¥F? d cd "
1570 LOCATE 4,15:PRINT"D ij ib"

sp$”bi ij
1560 LOCATE 4,163 PRINT*d"spESPA
CES(12) "

1570 LOCATE 4,.17:PRINT"haak la”
spitak laag"

1600 { OEATE 7,18:PRINT “d © "sp
£ d "

1610 LOCATE 7,19:FRINT *d c “"sp
tll t‘ c'l “

1620 LOCATE 7,20:FPRINT "d ih"=sp
$'bj "

1470 LOCATE 7.21:PRINT “d “sp
"F C"

1640 LOCATE 7,22:PRINT "haaa"sp

$"aaag” o

1650 LOCATE 1Z,24:FRINT "d laaa

aaaaaaaaak c"

1660 LDEATE 12,25:PRINT
d c 'y

LOCATE 34,2%:PRINT

RETURN

REM MC~-Code

z=15000: RESTORE 1270

FOR i=%7000 7O %7QD2 STEF

vl o

1670

14680
1670
1700
1710
16
1720 sum=0

1730

1740 FOR 3=i TOD i+i5

1750 READ wertf:vert=VAL{"%"+w
erti)
1760
1770
1780
17590
1800 READ chsum

1810 = IF echsum>sum THEN PRINT
"DATA-Fehler in Zeile "3z2:END
1820 z=z+10

1870 NEXV i

1840 z2=16000: REGTORE 2130

18350
1860
16
1370
1880
112390
tuert$)

1200 sum=sum+wert

1210 FOKE j,wert

1920 NEXT j

1720 READ chsum

17480 :IF chsum4>sum THEN PRINT
"DATA-Fehler in Zeile ":z:END
1750 z=z+l0

PZEYTE™

sum=sumt+wert
FOKE j.wert
NEXT 3

FOR i=%7100 TO 7206 STEP

sum="0 .
For j=i Y0 i+15
READ wertf:wert=yYalL ("&"

{FGY
{EJ2
{PB}
tE02

TIBT

LGF}
PGy
{BJ>
{AF:
¥MC3
{PM3
{0
CIED
{1e3
iMB}
{CFy
{DF3
{CB3
{AD2
{AF2}
{CR3
{AGY
{NF X
{AF3
MJ3

{em:
LGHI

A3
{GF2>
{HL?

{OF>
{FK>
AL
{DP3}

M3
(FG3
ME2
BIz
€AB2
FF3

{GE2
{ans
iF03
£Jo2
{ANZ

PR3
{613
{DLY

{JIz
{HE?
{AN}
iCI}
{CG3

NI
1Gi3>



1360
177
1780 RETURNM

1790 DATA fe,06,c0,dd,7e,00,dd,
fe,02,dd, 46,03 ,dd , 62,04 ,dd, 19
5G

2000 DATA 66,06,dd,52,08,dd ,56,
a,22,d5,70,ed4,53,d45,70,32, 18
a0

2010 DATA 47,70,2d,47%,d8,70,21
00, e0,33,d4,70,4F,06,00,09, 14
60

7020 DATA 2b,22,da,70,3a,d3,70,
6F y26,00,2b,11,50,00,cd,be, 14

P .

NEXT i

2030 DATA bd,ed,4b,da,70,09,22,
dc,70,3a,d3,70,47,3a,d5,70, 20
4% ’
2040 DATA P0,3c,6f ,26,00,11,08,
00,cd be,bd ,22,de,70,3a,d4, 1&
o0

2050 DATA 70,47 ,32,06,70,F0,3,
I24,e0,70,3a,d7,70,fe2,00,ca, 19
58

Z060 DATA 7d,70,dd,2a,dd, 70, fd,
2a,dc,70,c3,85,70,dd,2a,dc, 23
78

2070 DATA 70,%d,2a,dB8, 70,3a,de,
70.4% ,3a,e0,70,47 ,dd,22,02, 21
52

2080 DATA 70,+d,22,e4,70,dd,7e,
00,¥d,77,00,dd ,23,fd,23,05, 20
o7

2090 DATA 78,1e,00,c2,95,70,3a,
d7,70,fe,00,ca,be,70,2a,e4, 22
42

2500 DATA 70C,cd,26,bc,22,24,70,
fd,2a,ed,70,c3,ch,70,2a,e2, 23
30

2110 DATA 70,cd,26,bc,22,22,70,
dd,2a,e2,70,0d,7%,fe,00,c8, 21
(473 ‘

2120 DATA ¢3,89,70,00,00,00,00,
00,00,00,00,00,00,00,00,00, 4
44

2120 DATA 3a,1a,79,cd,9e,72,0d,
77+72,cd475,bb cd,60,bb,fe, 23
7L

2140 DATA 20,ca,b?,7i,fe,2b,ca,
bS,71,fe,3d,ca,34,72,fe,96, 28
05 .
2150 DATA ca,bb,72,3a,1d,79,3d,
fe,81,c2,2e,71,%e,85,72,21, 17
86

2140 DATA 79.3a,1a,7?,3d,fe,0G,
c2,3c,7,38,04,32,12,7%,cd, 14
a0

2170 DATA %e,72,cd,77,72,cd,75,
bb.cd,60,bb,fe,20,ca,7e,71, 24
34

2180 DATA 3Ja,la,79,3c,fe,05,c2,
5b,71,3e,01,32,1e,79,3a,.,1d, 12
73

2190 BATA 79,3c,fe.B6,c2,69,71,
3e,82,32,21,79,3a,12,7%,cd, 17
1

2200 DATA 9e,72,cd,77,72,cd,75,
bb,cd,60,bb, fe,20,c0,3a, e, 22
73

2210 DATA 79,32,1a,79,3a,21,79,
T2,1d,792,38,18,79,67,3a,19, it
19

2220 DATA 79,6 ,cd,75,bb,38,20,
cd,Sd,bb,3a,1c,79,32,19,79, 17
23

2230 DATA 6f,3a,1b,79,32,18,79,
&7,cd,75,bb,3a,1d,7?,cd,5d, 16
3¢

2240 DATA bb,c9,c3,7e,71,3a,la,
79 .fe,01 ,ca,dd,?1,fe,03,ca, 22
77

2250 DATA dd,71,£5,3a,21,79,3d,
te,8l,c2,ce,71,32,85,32,21, 20
26

2260 DATA 79,§1,3d,¥2,00,c2,8,
71,3e,04,c3,f¥8,71,f5,3a,2t, 21

{AKS

{BG>

{ocs

£ET3

{NIZ

€ILs

RichES

e
Ly
ey
IBF3
MM
e
{FD>
toL3
f4:)%
e
N
€ce?
13
(HB?
INE?
wes
1163

{EG>

{047’

Q0

2270 DATA 79,3c,fe,86,c2,e9,71,
e ,BR2,32,21,79,f1,3c,fe,05, 20
65 .

2780 DATA c2.f8,71,32,01,c3,8,
71,§5,732,18,79,67,33,19,79, 19
29

2270 DATA &f,cd,75,hb,3e2,20,cd,
Sd.bb,33,1a,79,cd,92,72,3a, 19
97

2300 DATA 1h,79,32,18,79,3a, 1c,
79,322,19,79,1,15,cd,9e,72, 17
g

2310 DATA Ta,1t,79,32,18,79,3a,
1€, 79.,32,19,79,f1L,32,1a,79, 12
42

2320 DATA 32,1e,79,c7,Fa,1a,79,
fe,0l,ca,5c,72,fe,03,ca,Sc, i8
21

2330 DATA 72,%5,3a,21,79,3c,fe,
fa6,.c2,4d,72,3e,82,32,21,79, 18
o0

2340 DATA f1,3c,fe,05,c2,18,74,
3e,01,c3,8,71,f5,3a,21,79, 21
21

2750 DATA 3d,fe,B1,c2,68,72,38,
85,32,21,79,%1,3d,fe,00,c2, 20
a5 "

23460 DATH §8,71,3e,04,c3,f8,71,
7d, fe,00,c2,84,72,2e,19,7d, 19
o8

2370 DATA 32,1¢,79,c%,fe,la,c0,
7c.fe,0d,ca,97,72,fe,1cyca, 22
ta

2380 DATA 97,72,2e,19,c3,23,71,
2e,01,7d,32,1c,79,c9,07,4F, 13
a7

2390 DATA 04,00,21,fe,7c,07,3a,
18,79,86,32,1b,79,23,Ja,19, 10
7%

2400 DATA 79,86,32,1c,79,46f 4,32,
1b,7%9,67,c?,dd,6e,Q0,dd, b6, 17
29 '

2410 DATA 01,3e,ff77,c3,7e,71,
090,00,00,00,00,00,00,00,00, ©8
71
2420
2430
2840
2450
2460
2370
2480
24990
2500
2510
2520
2530
2540
255
2560 RANDUIMIZE TIME

2570 $IF 1(1,03<51 OND R (1,104
5 AND 1¢1,1)<>6 THEN b=1:60TQ 2
&£20

2580 :IF 1<4,1)<>1 AND 1(4,1)<>
S AND 1{4,1)<>& THEN b=2:607T0 2
620

2590 :IF 1{(1,4)<>1 AND 1(1,4)<>
I AND 1(1,4)<>4 THEN b=3:607T0 2
&20

2600 :IF 144,4)<>1 AND 1{4,43<>
3 AND 1(4,4)<>4 THEN b=4:50T0 2
620
2610
2620
2710
2630
2680
FOKE
24650

REM Maus-Daten

FOR i=30000 TG 32500
POKE i,0

NEXT i

RESTORE 2530

FOR i=1 TQ 4

READ a,b

FOKE 31998+i%2,a

FOKE 31298+i%2+1,b

NEXT i
DATA 0,255,1,0,0,1,255,0
RETURN

b=INT (RND*2) +1
ON b GDSUR 2680,2690,2700,

£%=0

POKE 31000,%:POKE 31001 ,v:
JL1002,r

FOKE 31003,x:FOKE 31004,y:

FOEE 31006,r

2660 POKE 31005,ch:POKE 3100%,c
h

2670 RETURM

2680 w=13J:ry=1tr=3:ch=132: RETURN
2690 u=28:y=fir=3:ch=132:RETURN

{DK3

IND3

AL H]

{KG}

£1E}

na:

tMI>

{DJ3

{ECY

{EOQ?

{FJy

LEs

{HD}
{DB>
{IH>
{EE2
{GB2
{NB>
AR
{MED
F1}
LIF>
{LED
{FD>
{BP}
{BF2}
{ARY
ML

£JJ3

Gad

M3
[elte!

(LR
LM

(91:3)
{JE?
{FHY

ADY
{Paz

{IF>

2700 x=13:1y=25:r=1:ch=130:RETUR
N

2710 x=28:y=25:r=1:ch=130: RETUR
N

2720 REM Ende

2770 MODE 1:GOSUR 4320

2740 LOCATE 9,1:FRINT CHR¥(24);
"HEI -~ 8 CODORE "sCHR$(24);
2750 BOSUR 308G

2760 LOUATE 12,17:FPRINT "SCORE:

Y PRINT USING "#H###"35Cs

2770 IF scdhi (b)) THEN 3050
2780 h$="ABRCDEFGHIJELMNDPRRSTUY
WXYZ. "“+CHR$E(24Z)+"1"

2790 LOCATE JF,20:FRINT H$

2800 LOCATE 17,21:FPRINT """g:
2830

2820 A=JAY(0): IF A=0 THEN 2820
2830 FOR I=1 TO 1QO:NEXT

2840 IF =8 THEN HF¥=RIGHT®{H3$
2 +LEFTE(H$,1) : 6070 2880

2850 IF A=4 THEN H$=RIGHT# (H#
2 1) +LEFT$(H$,29) : GOTO 288Q

2840 IF A=146 THEN 2710

2870 GOTQ 2820

2880 LOCATE 3,20:PRINT H#:

2870 GOTO 2B20

2900 *
2210 N1$=MID$(H¥, 15,1)
2920 IF N1E=CHR#$(242)
N$) 30 THEN NE=<LEFT$ (NS ,LENINS) -~
1):LOCATE 13,22:PEN Z:PRINT N3
" M aGOTD 2950

27T0  IF Nig="'" THEN 2970

2740 IF LEN(N$)<14 AND NIE<>CH
R#(242) THEN N#=N$+N1%:PEN 2:L0
CATE 13, 22:PRINT N$:1" "3

2950 GOTO 2820

29460 -
2970
2980
2990
000
EXR
JINL0
3020
I030
3040 BOSUR 3080:tf=1:G05UR Z200
3050 LOCATE 13.25:FRINT "PRESS
FIRE":

060 WHILE JOY (0)I216:WEND: £%=0
rlev=0anf=0:liv=4:sc=0:60T0 41
10

070 ”

IORC FOR I=1 10 &

2070 LOCATE S, IxZ2+3:PRINT HI¥{
1) ;STRING#(16,32) 5 :LOCATE 25,I#%
2ATFRINT USING "#HEH#"iHI(I) 52
NEXT 1

T100 RETURN

F110 REM Level

3120 anf=0:B05UB 3830

3130 ON lev GOSUR Z350,3380,341
0,3440,3470

3140

3190 FOR i=350 TO 32 STEF -2
3160 FLOT 160,1,0:0R84W 478,1,0
2170 NEXT 1

33180 pu=lev*i00

3190 -
F200 ENT —1,1.2,1,1,0,2,1,0,2,1
s Zyla1,0,8

3210 ENV 1,1,40,1,1,-3,2,1,0,1,
1504,1,12,~1,4

3220 RESTORE IZ30

3230 READ a,b:IF a=-1 THEN IF t
£=0 THEN 3270 ELSE RETURN

F240 SOUND 1,a,bx10Q,7,1.1:50UND
L 2,a%2,b#10,7,1,1:S0UND 4.a/2,b
*¥10,7,1,1

32850 6OTO 3230

3260 7

Z27Q ad=0FACES (20 +CHR$F (1TIT¥ 4"~
LEVEL: "+CHR¥(150) +S5FACES(B)
I2BO INK 1,26:PEN 1:FOR i=1 TO
B8

FOR I=5 70 t STEP -1
IF SCOHI(I) THEN NEXT 1
FOR J=5% 70 I+t STEP -1
HI{I+1)=HI(I) :HI¥(J+1)=HI

NEXT J
HI(I+1) =60 HIS(I+1)=N¥

AND LENC .

oM

{LD3>
{AM:
L

{EB3
{PND

IL>
{KG63

{BN}
{LFr3
M
A2
L3I0
{IN}

{KP3

{IHY
{(RI3
{ALs
{JIH}
{ros
{AK
oo

{OA}
{pJz

{GF}
{ogl
{A1}
{PB}
MM
{MB3

o
{EJ3
COH>
{AF3
{CF3

{FR}

TR
{PIx
INH>

{EH}
{8M3
{132
{LH3

{DJ2
{aH:
16K}
£EN2
{GP2}
(GO
PO

CNO>

ALy
. {OBRY

{CG>
{EJ}
{FL2
{AARX
{FG}

£IL3



.“70 Ltocare 11,12

at,20);

AX00  af=RIGHT${(a%$,37)+LEFTF(a¥
1)

IT10 NEXT i

332

IXT0 DATA I19,7,284,1,248,7,338
y1,3172,3,284, ¢ 268,_,L10 1,213,

3,319,1,268,3 ,&13,1.225,1 + 268,
1,719,1,358,1,31%,16,-1,-1

3740 RETURN

3F50 SYMROL 150,108,254,254,254
(124,546,186 ‘HERZ

ITHC 1im=300

3370 RETURN

3380 SYMROL 1S0,24,60,60,60,1246
125542 ‘GLOCKE

390 lim=2G0

3400 RETURN

T410 SYMROL 150,0,2,5,253,229,1

&2,160 “SCHLUESSEL

T420 1im=200

3430 RETURN

X440 SYMBOL -150,2,12,

02,6 K IRSCHEN

F450 1im=150

2460 RETURN

Z470 SYMROL 150,0,36,60,124,219
+126,102,60 'GESICHT

3480 1im=100

3490 RETURN

3500 REM (Level >S5}

3310

3JIS520 MODE 1:RO=5000

3530 s$=CHR$(133)+"SIE HABEN AL

LE {EVEL GESCHAFFT ...."

3540 S1¥=CHR$(13X3)+"DAFUER BEKD

MMEN SIE 5000 PUNKTE BONUS. *

ISS0 SE=SPACE#F(37)+53: 51$5=5PACE

¥(40)+51%

3IT60

3570 FOR I=1 TO 28

35680 LOCATE 3,S5:FRINT LEFTH(SY
y 3715 :5F=RIGHTH(SE,LEN(5%)-1)

3570 NEXT I

2600 ¢

3610 FOR I=1 TO 40

3620 LOCATE 1,10:PRINT LEFT#(S
1£,480) 3 : S1F=RIGHTH(SI¥,LEN(S1$)

“13

I6I0 NEXT 1

3640 -

I650 LDCATE 14, 20 FRINT "SCORE:
"3 :PRINT USING "#####" ;50 :PRI

NT " P."3

Z66Q LOCATE 14 ,15:FRINT

sFRINT LEFTH(

20,356,98,1

"RONUS:

{J0>

{AF}
{GH}
{AD}

AQ70

"33 PRINT
NT ™ P."3
I&70
Z68D

USING "#8#4#4" 1ROz : PRI

FOR I=0 TO S000 STEF 100
6?0 SOUND 7.,213%,2,7,1,1°
I700 LOCATE 21,20:PRINT USING
“HHHBEY1SC 1y

I710 LOCATE 21,15:PRINT USING
CHERBHBO-1 g

R NEXI I

SC=8C+3000

GOTO 2720

END ‘

REM Tod

liv=liv-iranf=0

R i-0CATE 34, T:FRINT STRINGH(
1iv 131 sSTRINGH¢(A-1iv, 15125
3800 IF liv=0 THEN 2720

3810 GOSUR 23460:6G0SUR 3110

3820 FDOR i=0 TO S:FOR jij=0 TO S:
1¢1,3)=0:NEXT j,1

3830 FOR i=1 7O 11

3840 IF f(i)=0 THEN 3840

3850 LOCATE x(1),y{i):PRINT " *®

=
s

3860
z87va
3B80
2890
39200
I?10
3920
3930
3940
3750

fir=0

NEXT i

RETURN

REM Gegenstaende

FOR i=1 7O t1
£(i)=0

NEXT i

INK 1,26:FEN 1

FOR i=t T0 B

3960 r=INT{(RND*11}+1

3270 :IF f(r)=1 THEN 3940

3980 LOCATE x{r),y{(r):PRINT CH
RE(ISQ):: f{r)=t

2970 NEXT i

4000 *

4010 RETURN

4020 DIM x(11),(11),y{11)

4030 RESTORE 4100

4040 -

4050 FOR i=1 TD 11

4060 READ x{i),y (i)

NEXT i

3080 -

4090 RETURN

4100 DATA 5,6,8,15,10,11,13%,24,
I%.11,20,2,13,2,28,24,31,11,33,
17,3646

4110 REM Titelbild

4120 t$=CHR$(164)+" 8/B&6 BY M.P

1IES UND J.SCHULTE"+SFACE$ (18)
4130 MODE 1z INK 0,0: INK 1,0z INK
2,0: 1IN %,0:SPEED INK 7,7
4140 SYMBOL 240,06,0,3%2,64,132,1
82,126,127
4150 FOR i=1 TO 40 STEFP 2:LOCAT
£ i,t:FEN 1:PRINT CHR$(143);:00
CATE i,25:PRINT CHR${(143); :NEXT
4160 FOR i=2 TOA 40 STEP 2:FEN 2
:LOCATE i,1:FRINT CHR¥(143)3;:10
CATE i ,29:FRINT CHR$(14<);=NexT
4170 FOR i=2 70 24 STEP 2:LO0CAT
E 1,i—1:PEN 1:PRINT CHR$(14 3t
LOCATE 40,i-1:PRINT CHR$(143)3:
NEXT

4190 FOR i=2 TO 24 STEP 2:L.0CAT
E 1,i:FEN 2:PRINT CHR$(143)3:10
CATE 40,i:sPRINT CHR$ (143) 3 s NEXT
4190 FEN 3:FOR i=1 TO 100:LOCAT
E INT (RND*38)+2, INT (RND*23) +2:P
RINT CHR¥(240) 3 :NEXT

4200 RESTORE 4270:FOR i=1 TO 5
42310 READ m,n,a:MOVE m.n:FOR 3}
=1 TO a:READ x%,y:DRAWR x,y,2:NE
X d,i

4220 INK 0,0:INK 1,26,6:INK 2,6
,26: INK I,6:FAFER O:BORDER O:FE
N 1

4270 LOCATE 15,20:PRINT LEFT$(t
£,18) 3

4240 t$=RIGHTH(t$ ,LEN{t$)—1)+LE
FTHE(tS, 1)

4250 IF INEEY$<2""
4260 GOTO 4230
4270 DATA S0,150,4,0,100,50,-50
y50,50,0,-100

4280 DATA 210,150,4,-50,0,0,50,
50,0,0,~-50

4290 DATA 210.‘00,o.0.—40 50,0,
0,50

300 DATA 340,200,5
,50,0,0,-25,-50,0
4310 DATA £00,150,5,-
S50,0,0,-25,-50,0

4320 RESTORE 4340:F0R I=1 TO 6&:
READ A%,A:HI$(I)=A$:HI (I)=A:NEX
T X

4330 N$="":RETURN

4340 DATA JEMI-SOFT,6000,JEMI-S
0FT,5000,JEMI-S0FT,4000,JEMI-S0
FT,3000,JEMI-S80FT,2000,JEMI-50F
T,1000

ENDE DES LISTINGS

THEN 210

.~50,0,0,-25

50,0,0,50,

{OF>
£CK3

{LF>

{PF3

{NE}

{HD}

{BBZ

{FE}
{0P3

{EFZ}

{AN}
{BNZ
LIP3

{FE}
{FEY

-{PC}

{EP3
{EF}

{ID}

{HE>
{AAZ

{HD>



